
J o i n t Ou t p u t Ca s e Ca s e Ty p e F1 F2 F3 M1 M2 M3

Te x t Te x t Te x t KN KN KN KN- m KN- m KN- m

1 DEAD L i n St a t i c 5 . 3 6 2 0 1 6 . 3 5 8 0 5 7 7 . 0 1 7 0 2 9 . 4 6 2 2 - 2 7 . 9 5 4 9 0 . 7 2 2 5

1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 1 . 7 6 0 0 3 6 . 4 2 4 0 9 1 7 . 6 2 3 0 1 7 . 8 8 7 0 - 3 0 . 9 1 4 9 1 . 3 7 7 5

1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 3 . 5 3 8 0 4 5 . 7 6 8 0 8 5 7 . 3 0 9 0 - 1 6 . 6 5 5 6 - 4 5 . 3 8 5 6 0 . 1 2 9 9

2 DEAD L i n St a t i c 1 1 . 6 6 1 0 8 . 5 5 2 0 4 7 6 . 0 0 6 0 4 0 . 2 5 9 7 - 4 6 . 8 5 3 8 0 . 9 0 3 9

2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 2 2 . 1 1 5 0 1 8 . 0 6 9 0 7 0 8 . 9 8 1 0 4 0 . 0 4 1 4 - 4 8 . 3 8 5 9 1 . 8 8 1 6

2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 1 1 . 6 6 6 0 4 1 . 3 4 9 0 7 2 8 . 2 7 1 0 - 2 0 . 2 0 1 4 - 7 3 . 8 8 6 8 - 0 . 1 8 5 0

3 DEAD L i n St a t i c - 2 6 . 7 9 1 0 2 7 . 5 7 0 0 1 3 0 1 . 8 3 9 0 2 6 . 5 3 6 3 6 4 . 8 1 0 9 0 . 5 7 2 1

3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 6 7 . 3 8 1 0 7 3 . 2 8 6 0 2 3 9 9 . 2 9 6 0 - 7 . 0 1 7 1 4 1 . 7 6 1 1 1 . 4 1 5 4

3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 2 . 9 2 5 0 7 0 . 7 1 4 0 2 0 2 1 . 9 3 6 0 - 3 0 . 3 8 8 0 4 9 . 1 2 2 7 1 . 1 9 5 7

4 DEAD L i n St a t i c 2 3 . 5 2 2 0 6 . 6 6 5 0 8 1 3 . 4 7 6 0 1 0 . 4 7 6 9 - 2 6 . 1 5 8 0 - 0 . 6 3 1 2

4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 5 7 . 3 7 2 0 1 6 . 3 3 4 0 1 4 5 7 . 2 1 1 0 3 . 7 8 8 9 - 1 . 7 0 5 5 - 1 . 5 7 9 0

4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 3 2 . 6 8 1 0 4 5 . 0 4 6 0 1 1 6 7 . 1 9 9 0 - 6 1 . 1 9 7 1 - 3 9 . 3 8 1 1 - 2 . 8 4 2 6

5 DEAD L i n St a t i c - 9 . 6 8 2 0 1 6 . 4 2 6 0 1 2 4 4 . 9 9 1 0 - 1 6 . 5 3 7 3 5 0 . 4 1 3 3 0 . 6 2 3 6

5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 3 . 6 7 2 0 4 6 . 5 6 9 0 2 2 8 5 . 7 3 1 0 - 4 7 . 0 1 0 3 4 9 . 3 5 8 1 1 . 5 6 1 8

5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 2 7 . 0 4 6 0 5 7 . 3 2 8 0 1 9 5 4 . 6 9 1 0 - 9 1 . 5 3 0 3 3 3 . 7 4 0 1 0 . 9 3 9 2

6 DEAD L i n St a t i c 0 . 7 5 7 0 2 0 . 9 9 0 0 9 6 2 . 6 4 5 0 1 2 . 1 3 1 2 0 . 9 9 4 1 - 0 . 0 1 1 9

6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 3 7 4 0 5 4 . 7 7 6 0 1 7 7 4 . 6 4 6 0 - 1 5 . 1 1 7 8 1 . 3 9 1 3 - 0 . 0 3 0 3

6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 8 . 0 8 2 0 6 2 . 8 1 7 0 1 5 2 6 . 1 6 7 0 - 5 5 . 9 3 9 9 - 1 8 . 8 0 8 3 - 0 . 5 6 0 4

7 DEAD L i n St a t i c 0 . 1 9 4 0 2 1 . 0 9 3 0 9 6 7 . 2 5 4 0 1 1 . 9 5 3 3 0 . 3 2 7 4 - 0 . 0 0 4 6

7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 1 5 8 0 5 5 . 0 2 5 0 1 7 8 4 . 9 2 7 0 - 1 5 . 5 1 6 8 - 0 . 3 1 4 6 - 0 . 0 2 0 5

7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 8 . 5 0 1 0 6 2 . 1 7 3 0 1 5 2 9 . 1 4 7 0 - 5 4 . 2 0 7 9 - 1 8 . 7 2 9 5 - 0 . 5 0 8 8

8 DEAD L i n St a t i c - 0 . 0 3 8 0 2 1 . 1 5 5 0 9 7 1 . 9 9 9 0 1 1 . 9 0 3 6 - 0 . 2 1 7 9 - 0 . 0 0 2 4

8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 5 2 0 0 5 5 . 1 6 9 0 1 7 9 6 . 0 6 9 0 - 1 5 . 5 9 5 0 - 1 . 4 0 6 4 - 0 . 0 1 1 7

8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 8 . 3 4 6 0 6 1 . 5 6 2 0 1 5 3 5 . 2 0 4 0 - 5 2 . 5 1 5 1 - 1 8 . 5 6 5 6 - 0 . 4 7 2 5

9 DEAD L i n St a t i c - 3 . 1 2 1 0 2 2 . 1 6 8 0 9 1 9 . 6 5 4 0 3 1 . 8 0 6 8 - 7 . 1 6 7 8 - 0 . 4 5 5 1

9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 9 . 4 3 3 0 5 5 . 9 8 1 0 1 6 5 4 . 4 3 6 0 9 . 1 7 5 2 - 1 5 . 2 3 5 7 - 1 . 1 5 5 8

9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 2 . 4 8 3 0 6 2 . 2 0 5 0 1 4 4 4 . 2 7 9 0 - 2 7 . 0 5 5 1 - 2 7 . 0 5 7 9 - 1 . 1 2 6 3

1 0 DEAD L i n St a t i c 3 . 0 7 9 0 2 2 . 0 2 5 0 9 1 9 . 2 2 0 0 3 2 . 0 4 6 0 6 . 9 4 2 0 0 . 4 4 9 7

1 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 9 . 1 7 7 0 5 5 . 4 3 1 0 1 6 5 3 . 9 1 3 0 1 0 . 1 4 5 0 1 4 . 3 3 4 6 1 . 1 3 2 0

1 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 . 2 6 5 0 6 0 . 5 0 5 0 1 4 3 3 . 4 4 1 0 - 2 2 . 2 2 3 6 - 4 . 4 7 6 6 0 . 2 2 1 0

1 1 DEAD L i n St a t i c - 0 . 5 2 3 0 2 0 . 8 3 6 0 9 5 8 . 6 5 9 0 1 2 . 4 6 4 3 - 0 . 2 7 1 5 - 0 . 0 0 5 0

1 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 . 4 7 9 0 5 4 . 0 8 9 0 1 7 6 4 . 9 3 9 0 - 1 3 . 6 8 1 9 - 0 . 5 6 8 7 - 0 . 0 2 3 8

1 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 3 2 7 0 5 7 . 9 1 2 0 1 5 0 6 . 6 9 3 0 - 4 3 . 9 3 3 1 - 1 4 . 6 0 4 1 - 0 . 3 5 7 0

1 2 DEAD L i n St a t i c 1 8 . 0 0 9 0 1 7 . 8 5 6 0 1 3 0 8 . 5 5 9 0 - 1 5 . 0 7 0 0 - 2 5 . 7 5 4 9 - 0 . 8 8 1 1

1 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 4 8 . 5 8 5 0 4 8 . 4 5 5 0 2 4 9 6 . 9 3 7 0 - 4 5 . 4 5 9 2 - 5 . 2 6 5 4 - 2 . 1 9 2 7

1 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 2 5 . 0 8 5 0 5 7 . 0 3 1 0 2 0 3 6 . 9 3 6 0 - 7 9 . 0 9 7 8 - 3 5 . 4 3 5 2 - 1 . 9 4 1 4

1 3 DEAD L i n St a t i c - 1 9 . 9 1 6 0 4 0 . 7 2 4 0 1 2 9 7 . 6 3 3 0 6 0 . 2 8 8 6 5 3 . 9 1 7 3 - 0 . 9 9 2 2

1 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 5 4 . 4 2 4 0 1 0 9 . 7 9 9 0 2 4 6 3 . 8 2 4 0 1 1 . 0 8 9 3 3 0 . 2 5 7 3 - 2 . 7 7 4 3

1 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 0 . 6 9 7 0 9 4 . 1 6 9 0 2 0 3 8 . 6 3 3 0 1 . 9 4 5 3 3 8 . 9 0 0 5 - 1 . 8 1 9 3

1 4 DEAD L i n St a t i c - 3 . 5 3 3 0 4 . 5 9 8 0 7 9 9 . 8 7 2 0 - 1 6 . 2 8 1 6 - 0 . 1 8 1 5 - 0 . 5 2 4 1

1 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 9 . 0 2 2 0 9 . 8 0 7 0 1 3 8 0 . 9 5 1 0 - 2 4 . 5 5 9 2 - 5 . 2 1 0 0 - 1 . 3 9 8 9

1 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 2 . 0 7 0 0 3 0 . 5 6 4 0 1 2 6 2 . 7 1 7 0 - 7 3 . 3 1 0 7 - 1 6 . 6 1 3 9 - 1 . 2 5 9 6

1 5 DEAD L i n St a t i c - 0 . 0 9 2 0 7 . 7 4 5 0 7 2 6 . 3 5 7 0 1 . 2 0 6 6 - 0 . 2 1 2 8 - 0 . 0 0 7 9

1 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 3 4 5 0 1 6 . 5 7 4 0 1 2 1 6 . 2 5 8 0 - 6 . 3 5 6 9 - 0 . 7 5 0 4 - 0 . 0 2 5 9

1 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 0 1 2 0 3 5 . 3 8 0 0 1 1 3 8 . 0 5 9 0 - 5 2 . 6 8 3 4 - 1 5 . 5 0 8 8 - 0 . 4 0 0 1

1 6 DEAD L i n St a t i c 3 . 3 4 9 0 4 . 6 1 0 0 8 0 7 . 5 9 8 0 - 1 6 . 3 1 7 9 - 0 . 2 1 5 9 0 . 5 1 2 0

1 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 8 . 3 4 1 0 9 . 6 9 4 0 1 3 9 8 . 7 9 2 0 - 2 4 . 3 5 3 0 3 . 8 0 2 0 1 . 3 5 7 5

1 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 . 5 5 3 0 3 0 . 2 2 4 0 1 2 6 6 . 4 3 1 0 - 7 1 . 6 1 7 8 - 1 3 . 9 2 8 4 0 . 5 6 9 2

1 7 DEAD L i n St a t i c 2 7 . 6 8 7 0 - 1 . 3 5 8 0 9 8 7 . 0 6 1 0 - 3 . 9 0 4 1 - 2 2 . 0 1 5 8 0 . 1 9 1 9

1 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 7 3 . 6 5 5 0 - 3 . 4 9 9 0 1 8 1 1 . 0 3 6 0 - 3 . 2 8 7 9 1 4 . 4 4 4 0 0 . 4 5 8 8

1 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 4 4 . 1 2 0 0 2 9 . 4 3 8 0 1 4 9 4 . 9 1 2 0 - 7 2 . 4 0 9 1 - 2 5 . 9 9 1 3 - 1 . 2 3 9 6

1 8 DEAD L i n St a t i c - 0 . 7 2 6 0 - 4 . 1 9 3 0 1 7 3 8 . 2 2 3 0 - 1 . 2 3 1 2 0 . 2 2 8 1 - 0 . 0 1 1 2

1 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 3 . 8 8 8 0 - 1 0 . 9 1 1 0 3 5 0 2 . 1 2 5 0 3 . 7 3 7 5 - 2 . 1 5 4 7 - 0 . 0 4 2 2

1 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 1 . 4 6 9 0 2 4 . 7 0 9 0 2 7 8 4 . 2 0 6 0 - 6 5 . 1 6 3 8 - 1 9 . 9 6 9 9 - 0 . 2 5 5 6

1 9 DEAD L i n St a t i c 0 . 8 7 9 0 - 4 . 5 0 5 0 1 7 0 3 . 7 4 1 0 - 0 . 8 0 1 6 1 . 3 4 2 3 - 0 . 0 1 0 8

1 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 6 2 4 0 - 1 1 . 7 8 1 0 3 4 0 2 . 0 9 6 0 4 . 9 9 7 1 2 . 2 1 0 2 - 0 . 0 3 2 5

1 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 3 7 8 0 2 2 . 9 4 0 0 2 7 0 9 . 9 3 0 0 - 6 1 . 7 6 7 5 - 1 6 . 2 8 0 3 - 0 . 2 0 4 3

2 0 DEAD L i n St a t i c 0 . 5 3 6 0 - 3 . 9 6 2 0 1 7 3 6 . 1 1 1 0 - 1 . 3 7 3 9 0 . 7 4 9 1 - 0 . 0 0 7 4

2 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 7 2 9 0 - 1 0 . 7 8 0 0 3 4 8 2 . 3 2 7 0 3 . 9 7 7 3 0 . 8 0 2 6 - 0 . 0 2 2 8

2 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 5 2 3 0 2 2 . 4 2 5 0 2 7 8 6 . 6 0 6 0 - 6 0 . 0 9 1 1 - 1 6 . 3 8 9 3 - 0 . 1 7 0 9

2 1 DEAD L i n St a t i c 0 . 0 9 9 0 - 4 . 0 4 0 0 1 7 4 0 . 9 2 9 0 - 1 . 2 7 0 5 0 . 2 1 9 6 - 0 . 0 2 5 3

2 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 1 7 9 0 - 1 1 . 0 3 3 0 3 4 9 3 . 5 1 3 0 4 . 3 1 2 1 - 0 . 2 8 6 1 - 0 . 0 6 8 9

2 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 9 1 6 0 2 1 . 3 4 3 0 2 7 9 4 . 5 0 1 0 - 5 7 . 9 5 2 6 - 1 6 . 5 6 5 5 - 0 . 1 8 0 8

2 2 DEAD L i n St a t i c - 1 . 1 8 3 0 - 3 . 8 8 1 0 1 6 7 8 . 3 1 1 0 - 1 . 0 9 8 6 - 1 . 1 3 3 4 - 0 . 0 2 7 9

2 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 3 . 8 4 7 0 - 9 . 5 7 6 0 3 3 3 3 . 9 5 4 0 3 . 6 9 1 9 - 4 . 0 4 5 7 - 0 . 0 7 9 1

2 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 0 . 2 4 3 0 2 1 . 6 2 2 0 2 6 6 0 . 3 5 1 0 - 5 6 . 8 0 9 6 - 1 8 . 7 0 8 8 - 0 . 1 8 1 2

2 3 DEAD L i n St a t i c - 1 . 6 9 7 0 9 . 1 1 0 0 1 4 0 7 . 6 3 3 0 9 . 7 3 4 8 - 1 . 5 9 1 1 0 . 0 9 5 4

2 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 5 . 0 3 3 0 2 4 . 4 5 6 0 2 7 2 1 . 4 3 1 0 - 1 . 5 7 4 8 - 4 . 8 7 3 9 0 . 3 1 5 0

2 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 0 . 7 0 9 0 4 5 . 6 8 8 0 2 1 4 8 . 4 9 9 0 - 5 1 . 0 0 0 4 - 1 8 . 6 3 9 3 0 . 1 2 2 5

2 4 DEAD L i n St a t i c 0 . 0 7 7 0 1 0 . 0 4 6 0 1 4 0 2 . 0 2 6 0 8 . 8 4 6 5 - 0 . 0 7 1 9 - 0 . 0 0 0 3

2 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 0 9 1 0 2 6 . 6 1 9 0 2 7 0 5 . 6 1 1 0 - 3 . 5 2 8 3 - 0 . 3 5 8 5 - 0 . 0 0 7 2

2 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 7 7 6 0 4 6 . 5 5 1 0 2 1 5 3 . 9 7 9 0 - 5 1 . 1 0 1 4 - 1 4 . 8 1 5 9 - 0 . 0 8 2 2

2 5 DEAD L i n St a t i c 1 . 3 1 2 0 9 . 5 3 0 0 1 4 2 8 . 3 7 5 0 9 . 2 9 1 4 1 . 0 1 9 0 - 0 . 0 9 8 2

2 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 3 . 8 7 8 0 2 5 . 0 5 0 0 2 7 7 5 . 7 8 8 0 - 2 . 0 5 9 9 3 . 0 8 9 9 - 0 . 3 3 1 4

2 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 8 8 7 0 4 4 . 7 8 1 0 2 2 0 9 . 5 0 3 0 - 4 8 . 7 2 2 0 - 1 1 . 9 1 1 7 - 0 . 3 0 5 9

2 6 DEAD L i n St a t i c 1 . 0 4 6 0 - 4 . 0 6 3 0 1 6 7 8 . 2 4 6 0 - 0 . 8 1 4 8 0 . 7 8 3 6 0 . 0 3 1 8

2 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 3 . 3 2 6 0 - 1 0 . 2 8 1 0 3 3 3 3 . 7 0 8 0 4 . 8 4 0 2 2 . 8 3 3 9 0 . 0 8 1 9

2 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 2 3 8 0 1 8 . 4 5 7 0 2 6 6 4 . 2 2 1 0 - 5 0 . 5 1 9 7 - 1 1 . 9 3 2 2 - 0 . 0 0 6 2

2 7 DEAD L i n St a t i c - 0 . 7 6 3 0 - 4 . 7 8 6 0 1 7 0 9 . 6 9 0 0 - 0 . 3 5 9 3 - 1 . 1 2 8 1 0 . 0 3 9 4

2 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 . 5 6 4 0 - 1 2 . 8 5 8 0 3 4 1 2 . 0 6 2 0 6 . 7 4 1 7 - 2 . 1 9 2 7 0 . 1 0 0 8

2 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 6 2 4 0 1 6 . 2 7 4 0 2 7 2 2 . 4 1 8 0 - 4 8 . 2 1 1 8 - 1 5 . 3 5 2 5 - 0 . 0 0 1 5

2 8 DEAD L i n St a t i c - 1 . 0 7 3 0 - 5 . 6 8 5 0 1 6 2 3 . 8 8 6 0 0 . 4 0 3 2 - 1 . 5 4 8 2 - 0 . 0 3 4 3

2 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 . 5 1 6 0 - 1 4 . 3 0 2 0 3 2 3 1 . 2 8 0 0 7 . 9 0 6 1 - 3 . 2 6 0 8 - 0 . 0 9 3 6

2 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 8 . 2 7 2 0 1 4 . 2 3 2 0 2 5 8 4 . 2 0 2 0 - 4 5 . 8 5 2 4 - 1 6 . 0 4 1 7 - 0 . 1 2 7 8

TABLE:  Joint Reactions



2 9 DEAD L i n St a t i c 1 0 . 6 3 9 0 - 7 . 3 1 8 0 1 7 2 8 . 8 9 7 0 - 3 7 . 1 5 3 7 - 2 1 . 2 8 7 7 - 0 . 4 2 6 7

2 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 2 6 . 9 8 2 0 - 2 2 . 0 0 7 0 3 5 7 0 . 0 4 5 0 - 2 9 . 8 6 3 4 - 1 1 . 7 9 8 4 - 1 . 1 6 5 3

2 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 1 3 . 7 4 7 0 9 . 9 6 7 0 2 8 2 7 . 2 5 7 0 - 8 7 . 4 1 5 9 - 3 1 . 9 0 4 3 - 0 . 7 8 6 1

3 0 DEAD L i n St a t i c - 1 4 . 8 9 1 0 1 3 . 4 4 4 0 9 7 4 . 4 6 4 0 5 6 . 0 2 1 6 4 8 . 6 0 8 1 - 1 . 3 9 0 9

3 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 4 0 . 9 4 2 0 3 4 . 6 9 4 0 1 6 9 9 . 3 1 7 0 4 8 . 6 5 3 6 3 2 . 8 0 7 4 - 3 . 7 5 7 5

3 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 0 . 8 9 4 0 4 3 . 1 7 9 0 1 4 8 4 . 0 4 6 0 1 5 . 8 7 7 7 3 7 . 1 3 0 9 - 2 . 5 5 6 5

3 1 DEAD L i n St a t i c - 1 1 . 7 4 3 0 2 6 . 1 8 1 0 1 2 0 4 . 7 4 6 0 3 9 . 6 0 8 4 1 4 . 0 2 8 5 0 . 3 5 6 9

3 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 8 . 7 3 9 0 6 8 . 2 4 3 0 2 1 0 5 . 9 9 3 0 1 2 . 6 6 2 0 1 . 1 4 9 8 0 . 8 6 2 4

3 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 2 5 . 5 5 6 0 6 6 . 4 3 3 0 1 8 2 5 . 9 0 3 0 - 1 0 . 3 5 2 6 - 2 . 2 2 4 2 0 . 8 4 1 6

3 2 DEAD L i n St a t i c 2 5 . 9 9 7 0 - 0 . 0 4 6 0 9 5 4 . 2 0 2 0 0 . 0 9 8 7 - 2 4 . 9 5 6 1 0 . 0 0 0 9

3 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 6 9 . 2 8 7 0 0 . 1 1 0 0 1 7 3 6 . 6 8 8 0 - 0 . 1 0 2 7 7 . 5 1 8 1 - 0 . 0 0 5 3

3 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 4 1 . 8 3 7 0 3 2 . 2 3 8 0 1 4 3 9 . 4 1 7 0 - 6 8 . 6 0 1 5 - 2 8 . 9 6 2 7 - 1 . 5 2 1 8

3 3 DEAD L i n St a t i c - 2 . 2 7 1 0 0 . 2 3 0 0 8 7 4 . 9 4 1 0 - 0 . 3 0 0 9 - 1 . 7 2 3 3 0 . 0 0 5 2

3 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 6 . 7 9 7 0 0 . 7 5 2 0 1 7 8 1 . 4 4 5 0 - 0 . 9 6 2 1 - 5 . 8 7 6 6 0 . 0 0 5 9

3 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 2 . 4 6 7 0 3 1 . 8 4 8 0 1 4 1 1 . 4 3 0 0 - 6 6 . 0 9 1 3 - 2 0 . 4 0 6 5 - 0 . 2 0 8 5

3 4 DEAD L i n St a t i c 0 . 9 7 0 0 0 . 2 1 9 0 8 5 4 . 6 1 8 0 - 0 . 2 7 9 1 1 . 4 9 3 2 - 0 . 0 0 3 2

3 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 7 9 3 0 0 . 6 6 8 0 1 7 3 2 . 2 2 0 0 - 0 . 8 0 5 6 2 . 5 5 2 9 - 0 . 0 1 2 9

3 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 0 3 5 0 3 0 . 5 4 8 0 1 3 7 3 . 0 8 4 0 - 6 3 . 2 9 2 8 - 1 3 . 7 4 8 7 - 0 . 1 9 2 8

3 5 DEAD L i n St a t i c 1 . 6 6 8 0 0 . 1 8 8 0 1 0 7 6 . 0 9 6 0 - 0 . 2 0 9 4 1 . 8 4 3 8 - 0 . 0 0 5 9

3 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 3 . 1 7 5 0 0 . 5 4 4 0 2 1 4 6 . 2 7 7 0 - 0 . 5 6 4 7 3 . 2 1 7 2 - 0 . 0 1 8 9

3 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 7 9 7 0 3 0 . 3 7 8 0 1 7 1 4 . 4 1 0 0 - 6 1 . 5 5 9 7 - 1 2 . 7 4 5 9 - 0 . 1 7 3 7

3 6 DEAD L i n St a t i c - 0 . 9 2 3 0 0 . 1 2 6 0 1 0 7 6 . 1 7 4 0 - 0 . 0 9 4 4 - 0 . 5 7 3 6 - 0 . 0 0 8 6

3 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 . 2 5 5 0 0 . 3 5 9 0 2 1 4 6 . 2 4 3 0 - 0 . 2 2 6 2 - 1 . 7 4 2 4 - 0 . 0 2 6 6

3 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 8 . 8 7 5 0 2 9 . 3 5 2 0 1 7 2 0 . 2 2 6 0 - 5 9 . 4 3 2 3 - 1 6 . 2 3 1 0 - 0 . 1 5 3 7

3 7 DEAD L i n St a t i c 0 . 1 9 0 0 - 0 . 0 4 0 0 8 5 7 . 4 8 3 0 0 . 1 2 3 2 0 . 2 3 0 1 0 . 0 0 6 4

3 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 3 8 2 0 - 0 . 2 0 9 0 1 7 3 9 . 5 0 5 0 0 . 4 8 6 8 0 . 2 6 6 8 0 . 0 0 8 8

3 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 3 8 7 0 2 7 . 3 2 3 0 1 3 7 9 . 4 6 6 0 - 5 6 . 6 9 3 9 - 1 4 . 0 8 0 8 - 0 . 1 1 7 0

3 8 DEAD L i n St a t i c 0 . 2 7 0 0 - 0 . 0 0 7 6 8 6 6 . 1 1 2 0 - 0 . 3 1 2 4 0 . 3 5 0 8 0 . 0 1 1 3

3 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 3 9 0 0 - 0 . 6 6 4 0 1 7 6 1 . 2 4 3 0 0 . 0 0 0 9 0 . 3 9 5 3 0 . 0 2 5 5

3 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 1 2 2 0 2 6 . 3 8 8 0 1 3 9 3 . 4 1 5 0 - 5 5 . 5 5 4 1 - 1 3 . 5 1 9 1 - 0 . 0 9 2 6

3 9 DEAD L i n St a t i c 1 . 1 3 8 0 - 0 . 1 0 3 0 1 0 9 3 . 3 4 9 0 - 0 . 1 9 2 0 0 . 8 7 3 9 - 0 . 0 0 2 9

3 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 2 . 2 9 2 0 - 0 . 9 8 0 0 2 1 8 8 . 2 5 3 0 0 . 3 9 6 9 1 . 5 9 4 4 - 0 . 0 1 2 3

3 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 6 4 2 0 2 6 . 4 3 2 0 1 7 4 4 . 1 7 6 0 - 5 4 . 5 6 6 5 - 1 2 . 3 5 5 3 - 0 . 1 0 5 6

4 0 DEAD L i n St a t i c - 1 . 6 2 4 0 - 0 . 0 8 6 0 1 0 9 1 . 3 5 7 0 - 0 . 1 5 9 6 - 1 . 7 2 6 4 - 0 . 0 1 1 8

4 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 3 . 6 0 4 0 - 1 . 0 3 2 0 2 1 8 3 . 8 5 7 0 0 . 6 8 0 9 - 3 . 8 5 0 7 - 0 . 0 3 7 0

4 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 9 . 1 4 3 0 2 5 . 7 5 0 0 1 7 4 6 . 4 7 1 0 - 5 3 . 0 7 0 7 - 1 6 . 3 6 2 1 - 0 . 1 0 8 1

4 1 DEAD L i n St a t i c - 0 . 4 8 3 0 - 0 . 1 6 0 0 8 5 7 . 3 6 4 0 0 . 3 2 1 4 - 0 . 9 1 6 7 - 0 . 0 0 6 6

4 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 . 0 0 4 0 - 0 . 7 5 8 0 1 7 3 8 . 9 2 1 0 1 . 4 3 9 6 - 1 . 9 0 6 3 - 0 . 0 1 2 8

4 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 7 7 1 0 2 4 . 4 5 9 0 1 3 7 9 . 1 7 1 0 - 5 0 . 7 2 0 4 - 1 4 . 4 6 6 2 - 0 . 0 8 2 3

4 2 DEAD L i n St a t i c - 1 . 2 4 1 0 - 0 . 0 4 5 0 8 5 6 . 8 4 8 0 0 . 1 5 7 1 - 1 . 6 3 5 4 0 . 0 0 5 0

4 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 . 7 9 3 0 - 0 . 3 4 0 0 1 7 3 8 . 3 7 4 0 0 . 9 1 0 4 - 3 . 5 6 1 8 0 . 0 1 5 5

4 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 8 . 1 1 7 0 2 4 . 2 3 0 0 1 3 7 8 . 3 1 6 0 - 5 0 . 0 1 4 6 - 1 5 . 6 2 0 4 - 0 . 0 6 0 6

4 3 DEAD L i n St a t i c 1 . 3 3 2 0 1 . 1 0 8 0 7 7 9 . 9 6 3 0 - 0 . 6 8 6 6 0 . 3 9 0 4 - 0 . 0 1 8 4

4 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 3 . 9 6 0 0 2 . 2 7 3 0 1 5 4 9 . 7 0 5 0 - 0 . 9 5 2 5 1 . 8 9 2 5 - 0 . 0 4 3 0

4 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 0 5 1 0 2 5 . 8 7 7 0 1 2 3 3 . 4 5 8 0 - 5 0 . 5 5 8 0 - 1 1 . 5 1 5 0 - 0 . 0 8 6 6

4 4 DEAD L i n St a t i c - 2 . 3 2 7 0 0 . 8 7 7 0 7 8 6 . 4 0 3 0 0 . 1 8 9 5 - 2 . 1 3 8 9 - 0 . 0 5 1 9

4 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 8 . 7 1 6 0 3 . 3 4 2 0 1 5 5 4 . 8 2 0 0 - 0 . 2 7 1 2 - 7 . 8 2 0 0 - 0 . 1 3 0 1

4 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 1 . 6 0 4 0 2 5 . 7 5 4 0 1 2 4 1 . 4 6 7 0 - 4 8 . 8 0 6 8 - 1 7 . 8 7 3 3 - 0 . 1 6 3 3

4 5 DEAD L i n St a t i c - 4 . 7 3 7 0 - 2 9 . 7 2 0 0 2 0 2 1 . 0 3 9 0 - 6 1 . 3 5 5 6 - 7 5 . 4 2 2 6 0 . 0 7 5 0

4 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 7 . 1 1 8 0 - 7 8 . 1 7 1 0 4 1 5 5 . 0 8 8 0 - 3 1 . 4 6 7 7 - 9 1 . 8 5 8 8 0 . 2 3 7 2

4 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 2 . 2 3 8 0 - 3 1 . 4 3 7 0 3 3 1 3 . 9 0 3 0 - 1 0 2 . 5 2 6 8 - 1 0 3 . 8 4 7 5 0 . 1 7 9 8

4 6 DEAD L i n St a t i c - 4 . 2 5 4 0 - 0 . 4 5 8 0 1 4 6 3 . 0 1 8 0 - 8 . 5 1 2 2 8 . 1 4 1 1 0 . 0 3 2 1

4 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 2 . 8 3 1 0 - 0 . 4 8 4 0 2 9 2 6 . 7 1 4 0 - 1 0 . 1 1 1 3 1 . 9 6 5 2 0 . 2 1 8 4

4 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 5 . 9 7 7 0 2 3 . 4 0 5 0 2 3 2 9 . 6 5 1 0 - 5 8 . 0 4 5 0 - 8 . 0 4 1 7 0 . 0 3 2 6

4 7 DEAD L i n St a t i c - 1 7 . 2 0 4 0 9 . 9 9 3 0 8 6 0 . 3 3 9 0 - 2 . 2 4 9 4 4 3 . 1 8 8 2 0 . 1 5 0 8

4 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 3 9 . 4 5 8 0 2 6 . 8 8 6 0 1 4 8 9 . 1 5 8 0 - 1 7 . 1 2 3 2 3 2 . 7 8 8 7 0 . 5 3 6 8

4 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 4 . 3 6 4 0 3 3 . 4 6 9 0 1 3 0 2 . 0 2 7 0 - 4 6 . 7 1 9 2 3 0 . 9 2 4 0 0 . 4 9 8 6

4 8 DEAD L i n St a t i c - 8 . 7 5 3 0 0 . 6 4 3 0 4 2 6 . 5 5 9 0 7 . 1 1 6 9 1 9 . 2 0 4 8 - 0 . 2 2 7 9

4 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 8 . 8 1 3 0 1 . 1 5 9 0 6 4 7 . 4 9 6 0 9 . 9 6 0 3 1 4 . 9 0 8 1 - 0 . 4 6 0 6

4 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 9 . 9 7 5 0 1 6 . 0 9 7 0 6 0 9 . 6 3 2 0 - 2 8 . 8 4 3 7 6 . 7 4 9 0 0 . 8 7 0 8

4 9 DEAD L i n St a t i c 2 7 . 0 2 6 0 - 0 . 4 2 2 0 9 6 2 . 1 8 7 0 0 . 8 6 5 8 - 2 2 . 7 9 1 5 0 . 0 3 1 9

4 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 7 1 . 6 0 2 0 - 0 . 5 2 2 0 1 7 5 2 . 6 5 3 0 1 . 4 4 2 8 1 2 . 2 3 1 1 0 . 0 7 1 1

4 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 4 4 . 7 0 2 0 3 2 . 3 3 5 0 1 4 5 6 . 0 0 8 0 - 6 8 . 2 7 9 6 - 2 2 . 8 4 6 3 - 1 . 5 1 1 3

5 0 DEAD L i n St a t i c - 0 . 8 3 4 0 1 . 8 3 0 0 1 6 9 5 . 3 8 1 0 - 1 . 6 0 4 8 0 . 0 4 1 3 0 . 0 0 9 2

5 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 3 . 8 6 8 0 4 . 4 2 1 0 3 3 9 2 . 2 2 0 0 - 3 . 9 1 5 1 - 2 . 2 4 9 4 0 . 0 2 3 8

5 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 9 . 1 7 8 0 3 6 . 4 1 7 0 2 7 5 2 . 9 4 3 0 - 6 9 . 9 8 2 4 - 1 5 . 2 1 8 0 - 0 . 2 0 7 6

5 1 DEAD L i n St a t i c 0 . 8 6 5 0 2 . 0 5 4 0 1 6 5 5 . 5 0 7 0 - 1 . 9 2 5 6 1 . 3 5 0 0 - 0 . 0 0 1 0

5 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 6 8 5 0 4 . 9 4 8 0 3 2 8 7 . 3 0 4 0 - 4 . 6 6 4 7 2 . 4 0 6 4 - 0 . 0 0 5 1

5 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 3 3 9 0 3 5 . 4 9 3 0 2 6 7 3 . 4 2 3 0 - 6 7 . 7 7 7 3 - 1 1 . 8 9 0 7 - 0 . 1 9 0 1

5 2 DEAD L i n St a t i c 0 . 6 7 4 0 1 . 4 4 2 0 1 6 8 8 . 7 2 1 0 - 1 . 2 2 0 5 0 . 9 8 1 8 - 0 . 0 0 5 6

5 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 1 9 5 0 3 . 7 1 5 0 3 3 6 5 . 7 8 7 0 - 3 . 2 1 3 9 1 . 5 8 0 3 - 0 . 0 1 6 6

5 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 5 1 0 0 3 3 . 1 1 0 0 2 7 1 9 . 6 8 8 0 - 6 4 . 0 4 6 2 - 1 2 . 2 1 4 5 - 0 . 1 7 0 0

5 3 DEAD L i n St a t i c 0 . 1 2 8 0 1 . 3 7 9 0 1 6 8 9 . 3 8 5 0 - 1 . 1 0 4 6 0 . 3 7 3 9 - 0 . 0 0 0 6

5 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 0 4 0 0 3 . 5 1 7 0 3 3 6 7 . 2 8 3 0 - 2 . 8 6 1 7 0 . 2 6 9 3 - 0 . 0 0 6 6

5 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 3 0 3 0 3 2 . 0 4 9 0 2 7 2 1 . 7 5 5 0 - 6 1 . 8 7 9 7 - 1 2 . 9 6 5 3 - 0 . 1 3 8 2

5 4 DEAD L i n St a t i c 0 . 1 6 8 0 1 . 9 5 3 0 1 6 5 8 . 2 2 2 0 - 1 . 7 5 7 3 0 . 2 5 4 5 0 . 0 0 8 5

5 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 1 5 3 0 4 . 5 9 1 0 3 2 8 9 . 3 5 0 0 - 4 . 0 4 9 2 0 . 1 5 0 5 0 . 0 1 5 5

5 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 0 3 2 0 3 2 . 4 4 4 0 2 6 7 4 . 1 5 7 0 - 6 1 . 4 7 9 7 - 1 2 . 8 2 5 7 - 0 . 1 0 9 9

5 5 DEAD L i n St a t i c 0 . 0 2 4 0 2 . 2 3 6 0 1 6 6 0 . 2 6 1 0 - 2 . 2 3 2 4 0 . 0 0 6 4 0 . 0 0 8 6

5 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 1 0 9 0 5 . 2 8 7 0 3 2 9 3 . 7 9 5 0 - 5 . 1 6 4 1 - 0 . 2 7 3 3 0 . 0 1 7 5

5 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 1 1 9 0 3 2 . 1 4 6 0 2 6 7 5 . 8 5 5 0 - 6 0 . 6 4 7 3 - 1 2 . 9 3 9 2 - 0 . 0 9 7 7

5 6 DEAD L i n St a t i c 0 . 0 9 9 0 1 . 6 8 7 0 1 6 9 1 . 7 3 0 0 - 1 . 6 2 6 6 - 0 . 0 5 3 7 - 0 . 0 0 9 8

5 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 1 8 7 0 4 . 2 1 9 0 3 3 7 2 . 8 6 5 0 - 3 . 9 7 1 1 - 0 . 2 2 8 0 - 0 . 0 2 7 1

5 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 8 0 8 0 3 0 . 3 0 1 0 2 7 2 3 . 1 1 0 0 - 5 7 . 9 8 2 1 - 1 2 . 7 3 1 2 - 0 . 1 1 8 2

5 7 DEAD L i n St a t i c - 0 . 4 4 3 0 1 . 6 3 4 0 1 6 9 4 . 0 7 7 0 - 1 . 4 7 2 3 - 0 . 6 3 4 2 - 0 . 0 1 4 0

5 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 . 0 8 9 0 3 . 7 9 6 0 3 3 7 6 . 7 9 9 0 - 3 . 1 8 3 1 - 1 . 5 4 2 7 - 0 . 0 4 4 7

5 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 6 8 4 0 2 9 . 4 3 1 0 2 7 2 7 . 0 9 5 0 - 5 6 . 2 0 9 4 - 1 3 . 5 6 5 2 - 0 . 1 1 6 2

5 8 DEAD L i n St a t i c - 0 . 4 0 2 0 1 . 8 2 1 0 1 6 5 7 . 5 0 8 0 - 1 . 6 5 1 0 - 0 . 7 4 4 6 - 0 . 0 1 4 3

5 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 8 3 5 0 3 . 8 3 4 0 3 2 9 1 . 6 6 4 0 - 3 . 1 2 1 3 - 1 . 5 8 1 1 - 0 . 0 2 9 1

5 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 4 6 6 0 2 9 . 1 8 7 0 2 6 7 1 . 1 7 4 0 - 5 5 . 3 2 0 1 - 1 3 . 5 1 6 8 - 0 . 1 0 1 8

5 9 DEAD L i n St a t i c - 1 . 1 9 4 0 1 . 6 5 7 0 1 6 6 0 . 8 5 6 0 - 1 . 4 2 9 5 - 1 . 5 7 8 6 - 0 . 0 1 0 1

5 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 . 7 0 6 0 3 . 5 3 3 0 3 2 9 9 . 5 5 8 0 - 2 . 6 8 6 9 - 3 . 4 7 6 2 - 0 . 0 2 3 6

5 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 7 . 8 2 8 0 2 8 . 4 3 7 0 2 6 7 6 . 0 2 5 0 - 5 3 . 9 2 2 8 - 1 4 . 8 5 1 3 - 0 . 0 9 1 4

6 0 DEAD L i n St a t i c 0 . 6 0 5 0 0 . 8 5 7 0 1 5 0 4 . 0 0 4 0 - 0 . 7 3 0 7 - 0 . 2 2 3 5 0 . 0 1 7 7

6 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 2 . 1 7 3 0 1 . 5 0 1 0 2 9 4 4 . 3 8 4 0 - 0 . 8 9 4 4 0 . 4 0 3 0 0 . 0 2 4 4

6 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 3 0 4 0 2 6 . 5 1 0 0 2 4 0 1 . 2 7 3 0 - 5 1 . 6 8 5 6 - 1 2 . 0 6 0 1 - 0 . 0 2 3 6



6 1 DEAD L i n St a t i c - 2 . 0 4 2 0 0 . 1 4 5 0 1 4 2 4 . 1 7 3 0 0 . 1 2 7 1 - 2 . 3 9 9 3 - 0 . 0 4 6 7

6 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 4 . 6 0 5 0 - 0 . 2 6 8 0 2 8 6 1 . 4 2 8 0 1 . 2 9 0 3 - 5 . 0 6 6 5 - 0 . 0 9 2 1

6 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 9 . 3 1 1 0 2 4 . 6 4 7 0 2 3 0 7 . 7 5 3 0 - 4 9 . 1 5 6 7 - 1 6 . 1 2 5 3 - 0 . 1 6 7 3

6 2 DEAD L i n St a t i c - 0 . 5 7 9 0 0 . 7 2 7 0 1 4 7 1 . 9 5 2 0 0 . 2 0 1 3 - 1 . 2 5 3 8 0 . 0 0 6 7

6 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 . 0 4 7 0 2 . 5 1 4 0 2 9 9 3 . 1 8 5 0 0 . 0 5 5 8 - 2 . 2 7 1 5 0 . 0 1 9 1

6 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 6 . 5 2 0 0 2 5 . 4 1 2 0 2 3 9 0 . 3 5 8 0 - 4 8 . 3 4 5 5 - 1 3 . 9 4 2 6 - 0 . 0 5 9 0

6 3 DEAD L i n St a t i c 0 . 5 1 5 0 - 0 . 3 4 6 0 1 5 1 1 . 7 1 1 0 0 . 7 0 8 1 - 0 . 2 1 0 1 0 . 0 1 4 7

6 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 2 . 0 1 4 0 - 0 . 8 8 6 0 3 0 8 2 . 8 5 3 0 1 . 9 5 9 5 0 . 6 8 5 6 0 . 0 5 1 6

6 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 4 7 4 0 2 2 . 5 8 7 0 2 4 5 7 . 7 8 4 0 - 4 6 . 0 1 3 7 - 1 1 . 9 9 2 1 - 0 . 0 5 2 9

6 4 DEAD L i n St a t i c - 4 . 3 3 1 0 - 1 0 . 9 0 3 0 1 7 0 0 . 1 5 9 0 - 2 3 . 2 3 1 0 - 1 9 . 3 6 1 8 0 . 0 8 9 5

6 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 2 . 9 1 1 0 - 2 7 . 3 7 2 0 3 3 6 2 . 8 5 3 0 - 1 3 . 2 6 2 1 - 3 1 . 5 2 5 4 0 . 1 8 0 4

6 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 5 . 3 7 6 0 3 . 7 9 2 0 2 7 0 5 . 5 6 4 0 - 6 7 . 9 2 6 9 - 4 0 . 1 3 3 6 - 0 . 0 3 6 6

6 5 DEAD L i n St a t i c - 1 5 . 1 3 3 0 - 9 . 6 2 0 0 7 3 2 . 6 3 3 0 - 1 . 1 1 1 9 2 4 . 2 9 6 3 - 0 . 2 4 1 9

6 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 3 6 . 7 4 8 0 - 2 4 . 6 8 2 0 1 2 6 6 . 1 7 3 0 1 3 . 5 3 2 3 1 0 . 3 2 0 9 - 0 . 6 1 5 8

6 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 5 . 0 9 9 0 1 . 3 3 5 0 1 0 6 4 . 6 1 5 0 - 3 6 . 0 8 4 1 5 . 7 3 6 7 0 . 1 4 3 9

6 6 DEAD L i n St a t i c 1 6 . 0 5 5 0 - 1 0 . 5 2 1 0 5 8 2 . 6 2 5 0 - 1 7 . 7 6 4 0 - 3 4 . 2 7 2 3 - 0 . 6 9 7 2

6 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 3 8 . 1 7 7 0 - 2 4 . 8 1 7 0 9 6 9 . 3 1 5 0 - 8 . 8 5 7 9 - 2 2 . 0 8 6 2 - 1 . 4 4 6 8

6 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 2 3 . 4 8 3 0 8 . 1 3 2 0 7 7 2 . 6 7 9 0 - 8 0 . 2 5 5 7 - 4 2 . 1 6 1 3 - 3 . 3 8 2 5

6 7 DEAD L i n St a t i c 0 . 0 0 8 9 - 1 8 . 2 4 7 0 9 5 0 . 8 5 8 0 - 9 . 8 4 3 4 0 . 6 9 3 6 0 . 0 9 8 1

6 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 . 0 5 3 0 - 4 6 . 8 8 2 0 1 7 3 6 . 8 7 4 0 1 3 . 3 5 2 5 0 . 0 7 3 2 0 . 2 6 2 6

6 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 8 1 1 0 - 7 . 5 8 3 0 1 3 8 1 . 3 1 7 0 - 6 1 . 1 2 0 6 - 1 0 . 9 2 5 6 0 . 1 6 3 2

6 8 DEAD L i n St a t i c 0 . 7 2 9 0 - 1 7 . 8 4 1 0 9 2 8 . 2 4 6 0 - 1 0 . 4 7 2 0 1 . 1 9 7 5 - 0 . 0 0 1 3

6 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 3 2 8 0 - 4 5 . 7 5 9 0 1 6 8 8 . 0 0 8 0 1 1 . 7 0 7 2 2 . 0 2 0 0 - 0 . 0 0 1 8

6 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 2 6 7 0 - 7 . 7 6 1 0 1 3 4 3 . 8 7 0 0 - 5 9 . 8 7 1 0 - 9 . 8 6 8 8 0 . 0 2 0 6

6 9 DEAD L i n St a t i c 0 . 4 8 7 0 - 1 7 . 9 5 8 0 9 2 9 . 8 4 2 0 - 1 0 . 2 4 8 3 0 . 8 3 8 8 - 0 . 0 0 7 5

6 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 7 9 3 0 - 4 6 . 0 9 1 0 1 6 9 1 . 2 6 6 0 1 2 . 3 0 2 8 1 . 2 9 8 4 - 0 . 0 1 4 7

6 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 6 7 4 0 - 8 . 8 8 4 0 1 3 4 9 . 0 7 6 0 - 5 7 . 3 5 9 9 - 1 0 . 5 0 5 1 0 . 0 4 3 6

7 0 DEAD L i n St a t i c 0 . 3 1 5 0 - 1 8 . 0 1 3 0 9 3 0 . 2 9 6 0 - 1 0 . 1 4 3 8 0 . 5 1 5 4 - 0 . 0 0 1 2

7 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 4 7 4 0 - 4 6 . 2 6 2 0 1 6 9 2 . 1 3 5 0 1 2 . 6 2 1 8 0 . 7 0 2 3 - 0 . 0 0 2 3

7 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 9 4 3 0 - 9 . 6 9 0 0 1 3 5 0 . 9 2 7 0 - 5 5 . 4 2 8 1 - 1 1 . 0 1 4 6 0 . 0 7 6 4

7 1 DEAD L i n St a t i c 0 . 1 2 9 0 - 1 7 . 9 2 0 0 9 2 8 . 6 4 6 0 - 1 0 . 3 3 2 7 0 . 1 8 0 4 0 . 0 1 3 2

7 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 1 0 9 0 - 4 6 . 0 7 9 0 1 6 8 8 . 6 2 1 0 1 2 . 2 5 9 5 0 . 0 5 5 7 0 . 0 2 9 9

7 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 1 6 8 0 - 1 0 . 0 6 5 0 1 3 5 0 . 0 8 1 0 - 5 4 . 2 6 5 8 - 1 1 . 4 3 4 4 0 . 1 1 2 7

7 2 DEAD L i n St a t i c 0 . 0 3 7 0 - 1 7 . 7 4 8 0 9 2 9 . 1 0 5 0 - 1 0 . 6 6 2 5 0 . 0 0 1 1 0 . 0 1 5 8

7 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 0 4 3 0 - 4 5 . 7 0 0 0 1 6 8 9 . 7 2 6 0 1 1 . 5 3 9 1 - 0 . 2 4 0 2 0 . 0 3 5 1

7 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 1 7 9 0 - 1 0 . 3 6 8 0 1 3 5 2 . 5 7 9 0 - 5 3 . 3 6 3 5 - 1 1 . 5 3 1 2 0 . 1 3 0 1

7 3 DEAD L i n St a t i c - 0 . 1 1 0 0 - 1 7 . 7 7 6 0 9 2 8 . 7 0 2 0 - 1 0 . 5 9 5 6 - 0 . 1 1 1 4 - 0 . 0 0 6 9

7 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 0 . 3 4 0 0 - 4 5 . 8 1 5 0 1 6 8 8 . 7 6 9 0 1 1 . 7 6 1 8 - 0 . 4 0 5 3 - 0 . 0 1 7 1

7 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 3 4 1 0 - 1 1 . 0 4 1 0 1 3 5 3 . 2 2 6 0 - 5 1 . 8 8 8 9 - 1 1 . 5 6 7 9 0 . 1 0 4 9

7 4 DEAD L i n St a t i c 6 . 2 6 2 0 - 1 5 . 7 2 8 0 1 0 9 5 . 8 8 1 0 - 0 . 6 6 4 0 - 3 1 . 9 9 7 9 0 . 3 6 7 4

7 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 2 . 2 8 5 0 - 4 2 . 7 4 8 0 1 9 5 2 . 8 9 9 0 2 3 . 3 4 5 6 - 3 4 . 1 5 4 9 0 . 7 2 3 4

7 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n 4 . 8 7 1 0 - 8 . 5 8 5 0 1 5 9 0 . 1 0 7 0 - 3 9 . 0 9 8 9 - 4 7 . 3 6 1 0 0 . 2 9 0 4

7 5 DEAD L i n St a t i c 1 . 1 8 8 0 - 1 3 . 8 8 7 0 1 1 1 2 . 3 2 2 0 - 9 . 7 1 7 8 0 . 8 7 4 2 0 . 0 7 5 5

7 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 5 . 5 7 7 0 - 3 5 . 3 9 8 0 2 1 0 9 . 2 1 8 0 7 . 0 1 8 8 4 . 6 9 8 2 0 . 1 9 6 0

7 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 . 7 5 3 0 1 . 7 7 4 0 1 7 8 6 . 6 4 7 0 - 5 6 . 6 2 4 9 - 8 . 3 4 1 6 0 . 1 0 9 0

7 6 DEAD L i n St a t i c 0 . 0 1 4 0 - 1 2 . 5 6 8 0 1 1 6 9 . 5 7 6 0 - 9 . 3 0 0 8 - 0 . 2 2 1 1 - 0 . 0 0 5 2

7 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 3 8 1 0 - 3 2 . 7 8 8 0 2 2 6 5 . 7 9 0 0 6 . 4 8 3 0 - 0 . 0 4 9 5 0 . 0 0 1 5

7 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 1 0 7 0 3 . 3 1 0 0 1 8 9 1 . 1 5 9 0 - 5 5 . 5 8 6 7 - 1 1 . 4 1 4 5 - 0 . 0 8 7 3

7 7 DEAD L i n St a t i c 0 . 0 3 8 0 - 1 1 . 1 4 7 0 1 2 1 1 . 2 0 0 0 - 8 . 5 3 6 7 - 0 . 2 8 4 6 - 0 . 0 0 8 3

7 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 7 6 0 0 - 2 9 . 5 1 6 0 2 3 7 0 . 1 7 4 0 6 . 0 1 8 9 0 . 1 7 5 0 0 . 0 0 5 7

7 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 8 9 5 0 5 . 2 3 6 0 1 9 5 8 . 2 1 9 0 - 5 4 . 3 9 6 9 - 1 1 . 3 3 9 7 - 0 . 0 7 3 7

7 8 DEAD L i n St a t i c - 0 . 0 2 0 0 - 9 . 9 2 6 0 1 2 4 9 . 7 7 5 0 - 7 . 1 8 2 2 - 0 . 4 7 7 8 - 0 . 0 0 7 6

7 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 6 1 5 0 - 2 6 . 8 1 2 0 2 4 6 9 . 3 5 9 0 6 . 7 3 3 2 - 0 . 2 1 7 2 0 . 0 1 6 6

7 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 5 . 0 0 1 0 6 . 7 3 5 0 2 0 2 3 . 0 5 3 0 - 5 2 . 2 9 7 0 - 1 1 . 6 4 7 7 - 0 . 0 6 9 7

7 9 DEAD L i n St a t i c 0 . 0 6 6 0 - 8 . 7 3 9 0 1 3 0 3 . 6 0 7 0 - 5 . 4 9 8 7 - 0 . 6 2 3 2 - 0 . 1 8 1 4

7 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 0 . 7 9 3 0 - 2 3 . 4 0 2 0 2 5 8 8 . 1 5 9 0 7 . 0 5 9 2 - 0 . 5 1 4 6 - 0 . 4 9 1 0

7 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 8 6 5 0 8 . 5 5 2 0 2 1 0 9 . 8 6 4 0 - 5 0 . 1 1 1 8 - 1 1 . 8 6 6 3 - 0 . 4 1 5 5

8 0 DEAD L i n St a t i c 0 . 0 1 5 0 - 6 . 2 0 3 0 1 3 8 8 . 0 8 6 0 - 5 . 1 9 7 7 - 0 . 8 8 1 2 - 0 . 0 0 5 9

8 0 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 2 0 9 0 - 1 6 . 3 7 8 0 2 7 7 4 . 6 0 9 0 3 . 4 0 5 3 - 0 . 5 4 6 9 - 0 . 0 1 6 9

8 0 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 4 . 7 2 7 0 1 2 . 6 3 7 0 2 2 4 8 . 9 6 4 0 - 5 0 . 2 6 8 4 - 1 2 . 0 6 7 1 - 0 . 0 9 3 0

8 1 DEAD L i n St a t i c - 1 5 . 7 6 2 0 - 5 . 0 7 7 0 1 1 3 8 . 0 9 9 0 - 2 . 9 9 7 9 2 2 . 6 2 1 6 - 0 . 0 2 2 6

8 1 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 4 1 . 0 3 0 0 - 1 3 . 5 5 3 0 2 1 8 6 . 3 2 2 0 4 . 7 1 6 6 5 . 0 7 6 0 0 . 0 4 8 8

8 1 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 4 . 9 9 1 0 1 3 . 1 4 1 0 1 7 9 1 . 5 1 2 0 - 4 5 . 9 3 1 4 5 . 0 3 8 2 - 0 . 2 1 5 1

8 2 DEAD L i n St a t i c - 6 . 4 5 6 0 - 5 . 7 9 3 0 6 1 8 . 1 8 5 0 1 7 . 3 9 8 8 1 2 . 0 8 1 4 - 0 . 5 1 4 0

8 2 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 1 4 . 1 2 8 0 - 1 5 . 6 4 6 0 9 9 7 . 9 6 4 0 3 1 . 5 2 3 4 6 . 8 8 5 4 - 1 . 4 5 1 4

8 2 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 1 9 . 8 0 1 0 7 . 1 5 4 0 8 6 0 . 6 3 4 0 - 1 5 . 3 8 4 4 - 4 . 3 1 7 2 - 0 . 4 0 9 3

8 9 DEAD L i n St a t i c - 1 1 . 0 1 6 0 - 1 2 . 1 5 6 0 6 7 6 . 8 0 7 0 - 3 4 . 5 4 1 2 4 . 2 7 8 4 1 . 0 5 6 0

8 9 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n - 2 6 . 5 0 0 0 - 2 7 . 7 4 5 0 1 1 0 6 . 2 3 4 0 - 2 7 . 6 0 0 6 - 8 . 1 7 3 4 2 . 3 6 1 1

8 9 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 2 4 . 5 1 2 0 - 0 . 2 1 0 0 8 9 7 . 3 6 3 0 - 8 0 . 1 9 0 5 - 1 1 . 9 3 4 5 2 . 5 3 5 0

1 0 5 3 DEAD L i n St a t i c 0 . 8 6 2 0 - 7 . 8 5 7 0 6 3 3 . 3 6 0 0 - 6 . 1 2 6 7 2 . 1 7 1 7 - 0 . 2 0 1 9

1 0 5 3 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 4 . 4 9 9 0 - 1 7 . 5 0 5 0 1 0 1 9 . 5 3 1 0 1 . 6 5 9 8 5 . 3 7 7 4 - 0 . 4 2 4 1

1 0 5 3 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 0 . 9 6 8 0 9 . 0 3 8 0 7 7 5 . 2 6 4 0 - 5 2 . 8 3 2 3 - 5 . 5 3 2 0 - 0 . 3 7 5 0

1 0 5 4 DEAD L i n St a t i c 0 . 3 3 2 0 - 6 . 1 4 1 0 6 6 7 . 5 6 4 0 0 . 1 2 5 8 0 . 2 0 4 4 - 0 . 1 0 1 0

1 0 5 4 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 0 7 2 0 - 1 3 . 8 1 0 0 1 1 1 8 . 4 4 4 0 7 . 4 7 4 0 0 . 8 7 2 7 - 0 . 2 3 1 7

1 0 5 4 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 6 8 1 0 1 1 . 4 0 0 0 8 6 6 . 1 3 5 0 - 4 5 . 0 7 4 9 - 9 . 6 8 9 9 - 0 . 0 7 0 1

1 0 5 5 DEAD L i n St a t i c 0 . 4 6 1 0 - 6 . 5 1 6 0 6 9 5 . 6 9 8 0 - 1 . 4 8 3 2 0 . 2 8 2 8 - 0 . 1 2 5 6

1 0 5 5 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 6 2 9 0 - 1 4 . 8 1 0 0 1 1 8 5 . 2 3 0 0 6 . 2 5 0 0 1 . 3 6 5 9 - 0 . 3 2 5 0

1 0 5 5 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 3 0 5 0 1 0 . 1 7 8 0 9 2 7 . 8 1 3 0 - 4 5 . 7 9 6 1 - 9 . 3 9 8 2 - 0 . 1 1 6 7

1 0 5 6 DEAD L i n St a t i c 0 . 3 7 2 0 - 7 . 2 7 1 0 7 2 5 . 4 6 2 0 - 2 . 8 8 8 5 0 . 0 9 0 9 - 0 . 1 3 1 0

1 0 5 6 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 4 1 4 0 - 1 6 . 9 1 2 0 1 2 5 5 . 2 5 9 0 6 . 0 3 6 5 0 . 9 5 6 9 - 0 . 3 5 8 3

1 0 5 6 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 4 3 1 0 8 . 1 4 0 0 9 9 1 . 4 2 3 0 - 4 5 . 9 0 4 3 - 9 . 6 5 6 2 - 0 . 1 4 5 6

1 0 5 7 DEAD L i n St a t i c 0 . 4 4 9 0 - 8 . 8 2 8 0 7 6 5 . 5 0 6 0 - 3 . 9 3 0 6 - 0 . 1 3 6 4 0 . 1 7 2 2

1 0 5 7 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 5 2 6 0 - 2 1 . 4 2 2 0 1 3 3 4 . 1 0 5 0 7 . 3 7 8 2 0 . 4 5 0 4 0 . 4 7 0 8

1 0 5 7 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 3 0 4 0 4 . 5 0 2 0 1 0 6 3 . 4 7 1 0 - 4 5 . 0 1 2 7 - 9 . 9 3 6 8 0 . 4 1 0 0

1 0 5 8 DEAD L i n St a t i c 0 . 2 1 2 0 - 1 0 . 8 7 9 0 8 3 0 . 6 1 3 0 - 5 . 0 6 6 2 - 0 . 5 7 6 8 - 0 . 1 4 2 1

1 0 5 8 BT=1 . 2 DL +1 . 2 SDL +1 . 6 L L Co mb i n a t i o n 1 . 6 4 3 0 - 2 7 . 2 6 2 0 1 4 7 0 . 6 3 5 0 8 . 9 0 4 3 0 . 1 6 8 2 - 0 . 3 5 0 4

1 0 5 8 BS2 =1 . 2 DL +1 . 2 SDL +0 . 5 L L +0 . 3 QEX+QEY Co mb i n a t i o n - 3 . 3 0 0 0 - 0 . 2 6 4 0 1 1 8 1 . 1 4 8 0 - 4 3 . 7 7 5 4 - 1 0 . 1 5 2 6 - 0 . 1 9 8 6

MAKSI MUM 2 . 5 3 5 06 4 . 8 1 0 96 0 . 2 8 8 64 1 5 5 . 0 8 8 01 0 9 . 7 9 9 07 3 . 6 5 5 0


